
 

�D86еде==Kе 6 =4EтоOIе< теE=8GеEко< оп8E4=88 д4==Kе, Dеко<е=д4F88 8 ук474=8O Eоот6етEт6уNт =4Hе<у Eе7од=OH=е<у пDедEт46ле=8N 8 
Eлу64т толLко длO 8=DоD<8Dо64=8O покуп4телO. �окуп4телL о5O74= E4<оEтоOтелL=о пDо6еD8тL пDодукF8N =4 пD87од=оEтL 8 Eоот6етEт68е E6о8< 
тDе5о64=8O<. �K 74D4=т8Dуе< к4GеEт6о =4Hе9 пDодукF88 6 D4<к4E о5Iе9 пол8т8к8 Ф8D<K. �K =е =еEе< от6етEт6е==оEт8 74 у5Kтк8, 6о7=8кH8е 
6EледEт68е =епD468лL=о7о 8л8 =еEоот6етEт6уNIе7о пD8<е=е=8O =4H8E <4теD84ло6. �4EтоOI8< 6Eе пDедKдуI8е теE=8GеEк8е оп8E4=8O 8 
Dеко<е=д4F88 теDONт E6оN E8лу.  

  

  FEIDAL Schwimmbeckenfarbe 
           кD4Eк4 для 54EEейнов 

 
�47=4Gе=8е: �е5еE=о-7олу54O,  полу<4то64O кD4Eк4 =4 оE=о6е EлоDк4уGук4 Eо E6етоEто9к8<8, 
по7одоуEто9G86K<8,  =еOдо68тK<8 п87<е=т4<8 длO =4=еEе=8O Eто9к8E покDKт89 =4 Eте=K 54EEе9=о6 87 
5ето=4, Fе<е=т=о9 Hтук4туDк8, 5е7 =4=еEе=8O дDу78E покDKт89, 4 т4к 6е  Eт4л8. �е Dеко<е=дуетEO длO 
окD4Eк8 е<коEте9 E 7оDOGе9 6одо9  - E6KHе +27 7D4дуEо6. �е подEод8т длO е<коEте9 E п8тLе6о9 6одо9.  
&6ет: �е5еE=о-7олу5о9. 
�леEк: �олу<4то6K9. 
�од7ото6к4 по6еDх=оEт8: Ч4H8 87 5ето=4, Fе<е=т=о9 Hтук4туDк8 дол6=K 5KтL 877ото6ле=K =е <е=ее Gе< 74 
4 =едел8 до =4=еEе=8O кD4EоG=о7о покDKт8O, =е 8<етL у7лу5ле=89, D4ко68= 8 тDеI8=, 5KтL пол=оEтLN EуE8< 
8 G8EтK<. !л45одеD64I8еEO Eло8 =ео5Eод8<о тI4телL=о уд4л8тL, о5е768D8тL 6EN по6еDE=оEтL, пDо<KтL 

D4Eт6оD8теле< длO EлоD-к4уGуко6KE кD4Eок R4. �4=оE8тL пеD6K9 Eло9 кD4Eк8 толLко поEле пол=о7о 
6KEKE4=8O по6еDE=оEт8.  
!т4лL=Kе 54EEе9=K: по6еDE=оEтL Eт4л8 дол6=4 5KтL тI4телL=о оG8Iе=4 от D646G8=K до <ет4лл8GеEко7о 
5леEк4. �D8 Dе<о=те уд4л8тL Eл45одеD64I8еEO Eло8 Eт4Dо9 кD4Eк8 8 =4EодOIуNEO под =8<8 D646G8=у. 
�4=еEе=8е: �Eе7о =4=оE8тEO 3 EлоO кD4Eк8 E о5Iе9 толI8=о9 50-60 <к<.  47<еH46 кD4Eку, =4ле9те 
Eоот6етEт6уNI89 о5Jе< кD4Eк8 6 отделL=уN е<коEтL длO D47546ле=8O. 

 47546ле=8е: КD4Eк4 D47546лOетEO D4Eт6оD8теле< R4 6 EледуNIе< Eоот=оHе=88: 
             1 Eло9 – 2 G4Eт8 кD4Eк8 =4 1 G4EтL D475468телO 

             2 Eло9 – 5 G4Eте9 кD4Eк8 =4 2 G4Eт8 D475468телO 

             3 Eло9 – 5 G4Eте9 кD4Eк8 =4 1 G4EтL D475468телO 

&е<пеD4туD4 пD8<е=е=8я: 6 8=теD64ле от +10º!  до +28º!, те<пеD4туD4 6о7дуE4 =е дол6=4 пDе6KH4тL +28º!.  
�OEOх4=8е:  45 <8=ут – Eто9коEтL по от=оHе=8N к к4E4=8N. �ол=4O пол8<еD874F8O кD4Eк8 пDо8EEод8т 6 
теGе=8е 2 =еделL. � Mтот пеD8од под6еD74тL кD4Eку 6о7де9Eт68N 6одK 74пDеIе=о. 
ОG8Eтк4 8=EтDу<е=то6: У49т-Eп8D8т. 
!Dед=89 D4Eход: 7-8 к6.<./л. 
%D4=е=8е: � плот=о 74кDKто9 т4Dе пD8 t =е =86е 0º! 8 =е 6KHе +15º!.  
Ба=ку =е 7а<ора68вать! 
!Dок 7од=оEт8: 2 7од4 от д4тK 877ото6ле=8O. 
�еDO 5е7оп4E=оEт8: �е Eл864тL 6 к4=4л874F8N 8 6одое<K, ут8л878Dо64тL, к4к 5Kто6Kе отEодK. �D8 
поп4д4=88 6 7л474 пDо<KтL 6одо9.  
 

 

 

 

 

 

 

 



 

�D86еде==Kе 6 =4EтоOIе< теE=8GеEко< оп8E4=88 д4==Kе, Dеко<е=д4F88 8 ук474=8O Eоот6етEт6уNт =4Hе<у Eе7од=OH=е<у пDедEт46ле=8N 8 
Eлу64т толLко длO 8=DоD<8Dо64=8O покуп4телO. �окуп4телL о5O74= E4<оEтоOтелL=о пDо6еD8тL пDодукF8N =4 пD87од=оEтL 8 Eоот6етEт68е E6о8< 
тDе5о64=8O<. �K 74D4=т8Dуе< к4GеEт6о =4Hе9 пDодукF88 6 D4<к4E о5Iе9 пол8т8к8 Ф8D<K. �K =е =еEе< от6етEт6е==оEт8 74 у5Kтк8, 6о7=8кH8е 
6EледEт68е =епD468лL=о7о 8л8 =еEоот6етEт6уNIе7о пD8<е=е=8O =4H8E <4теD84ло6. �4EтоOI8< 6Eе пDедKдуI8е теE=8GеEк8е оп8E4=8O 8 
Dеко<е=д4F88 теDONт E6оN E8лу.  
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2-Komp.-Acryl-Grundbeschichtung fuer Wasserbehaelter 

Buechner Lackfabrik – FEIDAL-Gruppe 

�Dупп4 APP-801 
 

 

�47=4Gе=8е: Д6уEко<по=е=т=K9 7Dу=т =4 547е 4кD8ло6KE E<ол =4 6од=о9 оE=о6е, =е EодеD68т D4Eт6оD8теле9. 
�D8<е=OетEO длO 7Dу=то64=8O D47л8G=KE е<коEте9 длO 6одK 87 <ет4лл4, пл4Eт8к4 8 дDу78E подо5=KE <4теD84ло6. 
!6о9Eт64: �4то6ое 7Dу=то6ое покDKт8е E 6ел8колеп=о9 4д7е78е9. �KEок4O уEто9G86оEтL к <еE4=8GеEк8< =47Dу7к4<. 
�4теD84л уEто9G86 к де9Eт68N D47546ле==KE к8Eлот 8 IелоGе9, 4 т4к6е к <оNI8< 8 о5е774D46864NI8< E8<8к4т4<, 
пD8<е=Oе<K< длO уEод4 74 54EEе9=4<8. 
О5л4EтP пD8<е=е=8я: �Dу=то6ое покDKт8е FEIDAL APP-801 Dеко<е=дуетEO пD8<е=OтL длO 64==, поддо=о6 дуHе6KE 
к458=, 54ко6 длO ED4=е=8O 6одK, пл464телL=KE 8 декоD4т86=KE 54EEе9=о6, 877ото6ле==KE 87 Eт4л8, =еD646еNIе9 Eт4л8, 
т4к6е покDKтKE M<4лLN 8л8 пол8MEтеDо<. 
&6ет: �елK9, E6етло-EеDK9. 
�леEк: �лO=Fе6K9.  
ОE=о64: Л4к - 78дDокE8пол84кD8л4тK. От6еDд8телL – 4л8D4т8GеEк89 87оF84=4т. 
�од7ото6к4 Eт4лP=о9 по6еDх=оEт8:  еко<е=дуетEO дDо5еEтDу9=4O оG8Eтк4 оE=о64=8O Eтепе=8 G8EтотK Sa 2,5 Eо7л4E=о 
DIN EN ISO 12944  G4EтL 4. �о6еDE=оEтL дол6=4 5KтL EуEо9, оG8Iе==о9 от <4Eел 8 68Dо6, 4 т4к6е от O6лONI8EEO 
по<еEо9 =4лето6, =4пD8<еD, Eол8 8 дDу78E.  
�од7ото6к4 Q<4л8Dо64==о9 по6еDх=оEт8:  еко<е=дуетEO Hл8Dо64=8е E по<оILN 45D4786=KE <4теD84ло6 E 7еD=о< 
400. �о6еDE=оEтL дол6=4 5KтL EуEо9, оG8Iе==о9 от <4Eел 8 68Dо6, 4 т4к6е от O6лONI8EEO по<еEо9 =4лето6, =4пD8<еD, 
Eол8 8 дDу78E.  
�од7ото6к4 пл4Eт8ко6о9 по6еDх=оEт8: �о6еDE=оEтL дол6=4 5KтL EуEо9, оG8Iе==о9 от <4Eел 8 68Dо6, 4 т4к6е от 
O6лONI8EEO по<еEо9 =4лето6, =4пD8<еD, Eол8 8 дDу78E.  
!тDуктуD4 покDOт8я: 2 EлоO 7Dу=то6о7о покDKт8O FEIDAL APP-801, 74те< 2 EлоO 4кD8ло6о7о покDKт8O длO 54EEе9=о6 
FEIDAL APC-802. 

!<еH864=8е: �Dу=то6ое покDKт8е FEIDAL APP-801 74т6еDде64ет поEDедEт6о< E8<8GеEко9 Dе4кF88 оE=о6=о7о 
ко<по=е=т4 8 от6еDд8телO. О5е G4Eт8 =ео5Eод8<о E<еH4тL =епоEDедEт6е==о пеDед D45ото9, 6клNG4O <4теD84л, 
пD8л8пH89 к Eте=к4< 8 д=у 54=ок. �епеDе<еH4==Kе G4Eт8 =е 6KEKE4Nт. Уп4ко6к4 от6еDд8телO EодеD68т 8<е==о то 
кол8GеEт6о ко<по=е=т4, котоDое =ео5Eод8<о длO Dе4кF88 E оE=о6=K< ко<по=е=то<. Ч4Eт8 E<еH864NтEO 6 пDопоDF88 
10:1. К46дK9 D47 =ео5Eод8<о 74<еH864тL EтолLко E<еE8, EколLко <о6=о =4=еEт8 74 6Dе<O 687=еEпоEо5=оEт8 
<4теD84л4. �оEле E<еH864=8O <4теD84л Eледует =е<едле==о 8EполL7о64тL. �Dед64D8телL=4O Dе4кF8O (Eо7Dе64=8е 
E<еE8) =е тDе5уетEO. 
�4=еEе=8е: К8EтL, 64л8к, D4EпKле=8е (т4к6е 5е7 6о7дуE4) 
�OEOх4=8е:   ≈ 30 <8=. - Eто9коEтL по от=оHе=8N к пKл8 

 ≈ 90 <8=. - Eто9коEтL по от=оHе=8N к к4E4=8N 

 ≈ =е D4=ее Gе< GеDе7 3G. =е по7д=ее Gе< GеDе7 24 G4E4 - <о6=о =4=оE8тL =о6Kе Eло8 

ОG8Eтк4 8=EтDу<е=то6: !пеF84лL=K9 D4E6оD8телL длO д6уEко<по=е=т=KE 4кD8ло6KE <4теD84ло6. 
!Dед=89 D4Eход: �D8<еD=о 8,00 <.к6./к7. длO EлоO 40 <8кDо=. 
%D4=е=8е: � плот=о 74кDKто9 т4Dе пD8 t 6KHе 0º!. Не 7а<ора68вать! 
!Dок 7од=оEт8: 2 7од4 от д4тK 877ото6ле=8O. 
�еDO 5е7оп4E=оEт8: �е Eл864тL 6 к4=4л874F8N 8 6одое<K, ут8л878Dо64тL, к4к 5Kто6Kе отEодK. �D8 поп4д4=88 6 7л474 
пDо<KтL 6одо9.  



 

�D86еде==Kе 6 =4EтоOIе< теE=8GеEко< оп8E4=88 д4==Kе, Dеко<е=д4F88 8 ук474=8O Eоот6етEт6уNт =4Hе<у Eе7од=OH=е<у пDедEт46ле=8N 8 
Eлу64т толLко длO 8=DоD<8Dо64=8O покуп4телO. �окуп4телL о5O74= E4<оEтоOтелL=о пDо6еD8тL пDодукF8N =4 пD87од=оEтL 8 Eоот6етEт68е E6о8< 
тDе5о64=8O<. �K 74D4=т8Dуе< к4GеEт6о =4Hе9 пDодукF88 6 D4<к4E о5Iе9 пол8т8к8 Ф8D<K. �K =е =еEе< от6етEт6е==оEт8 74 у5Kтк8, 6о7=8кH8е 
6EледEт68е =епD468лL=о7о 8л8 =еEоот6етEт6уNIе7о пD8<е=е=8O =4H8E <4теD84ло6. �4EтоOI8< 6Eе пDедKдуI8е теE=8GеEк8е оп8E4=8O 8 
Dеко<е=д4F88 теDONт E6оN E8лу.  
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2-Komp.-Acryl-Decklack fuer Wasserbehaelter 

Buechner Lackfabrik – FEIDAL-Gruppe 

�Dупп4 APC-802 
 

 

�47=4Gе=8е: Д6уEко<по=е=т=ое по6еDE=оEт=ое покDKт8е =4 547е 4кD8ло6KE E<ол =4 6од=о9 оE=о6е, =е EодеD68т 
D4Eт6оD8теле9. �D8<е=OетEO длO окD4Eк8 D47л8G=KE е<коEте9 длO 6одK 87 <ет4лл4, пл4Eт8к4 8 дDу78E подо5=KE <4теD84ло6. 
!6о9Eт64: �лO=Fе6ое 7л4дкое по6еDE=оEт=ое покDKт8е E 6ел8колеп=о9 EпоEо5=оEтLN к оG8Eтке. �KEок4O уEто9G86оEтL к 
<еE4=8GеEк8< =47Dу7к4<. �4теD84л уEто9G86 к де9Eт68N D47546ле==KE к8Eлот 8 IелоGе9, 4 т4к6е к <оNI8< 8 
о5е774D46864NI8< E8<8к4т4<, пD8<е=Oе<K< длO уEод4 74 54EEе9=4<8. �KдеD6864ет дл8телL=K9 ко=т4кт E 6одо9, =47Dето9 
до +40º!. 
О5л4EтP пD8<е=е=8я: �о6еDE=оEт=ое покDKт8е длO D47л8G=KE е<коEте9, пDед=47=4Gе==KE длO ED4=е=8O 6одK. �окDKт8е 
FEIDAL APC-802 Dеко<е=дуетEO пD8<е=OтL длO 64==, поддо=о6 дуHе6KE к458=, 54ко6 длO ED4=е=8O 6одK, пл464телL=KE 8 
декоD4т86=KE 54EEе9=о6, 877ото6ле==KE 87 Eт4л8, =еD646еNIе9 Eт4л8, т4к6е покDKтKE M<4лLN 8л8 пол8MEтеDо<. �D8 уEло688 
допол=8телL=о9 под7ото6к8 по6еDE=оEт8 подEод8т т4к6е длO окD4Eк8 5ето=4. �е подEод8т длO ED4=8л8I п8тLе6о9 6одK. 
&6ет: О7еD=о-7еле=K9, F6ет <оDEко9 6ол=K. 
�леEк: �лO=Fе6K9.  
ОE=о64: Л4к - 78дDокE8пол84кD8л4тK. От6еDд8телL – 4л8D4т8GеEк89 87оF84=4т. 
!тDуктуD4 покDOт8я по Eт4л8 8 пл4Eт8ку 

2 EлоO 7Dу=то6о7о покDKт8O FEIDAL APP-801, 74те< 2 EлоO 4кD8ло6о7о покDKт8O длO 54EEе9=о6 FEIDAL APC-802.  

!тDуктуD4 покDOт8я по 5ето=у 

�Dу=то6ое MпокE8д=ое покDKт8е FEIDAL ELG-Aqua, 74те< 2 EлоO 7Dу=то6о7о покDKт8O FEIDAL APP-801, 74те< 2 EлоO 4кD8ло6о7о 
покDKт8O длO 54EEе9=о6 FEIDAL APC-802.  

�од7ото6к4 по6еDх=оEт8 

�о6еDE=оEтL дол6=4 5KтL EуEо9, оG8Iе==о9 от <4Eел 8 68Dо6, 4 т4к6е от O6лONI8EEO по<еEо9 =4лето6, =4пD8<еD, Eол8 8 
дDу78E. �о6еDE=оEтL дол6=4 5KтL 747Dу=то64=4 Eоот6етEт6уNI8< 7Dу=то6K< покDKт8е< Feidal. 

!<еH864=8е: �Dу=то6ое покDKт8е FEIDAL APP-802 74т6еDде64ет поEDедEт6о< E8<8GеEко9 Dе4кF88 оE=о6=о7о ко<по=е=т4 8 
от6еDд8телO. О5е G4Eт8 =ео5Eод8<о E<еH4тL =епоEDедEт6е==о пеDед D45ото9, 6клNG4O <4теD84л, пD8л8пH89 к Eте=к4< 8 д=у 
54=ок. �епеDе<еH4==Kе G4Eт8 =е 6KEKE4Nт. Уп4ко6к4 от6еDд8телO EодеD68т 8<е==о то кол8GеEт6о ко<по=е=т4, котоDое 
=ео5Eод8<о длO Dе4кF88 E оE=о6=K< ко<по=е=то<. Ч4Eт8 E<еH864NтEO 6 пDопоDF88 5:1. К46дK9 D47 =ео5Eод8<о 74<еH864тL 
EтолLко E<еE8, EколLко <о6=о =4=еEт8 74 6Dе<O 687=еEпоEо5=оEт8 <4теD84л4. �оEле E<еH864=8O <4теD84л Eледует 
=е<едле==о 8EполL7о64тL. �Dед64D8телL=4O Dе4кF8O (Eо7Dе64=8е E<еE8) =е тDе5уетEO. 
�4=еEе=8е: К8EтL, 64л8к, D4EпKле=8е (т4к6е 5е7 6о7дуE4) 
�OEOх4=8е:  ≈ 90 <8=. - Eто9коEтL по от=оHе=8N к пKл8 

≈ 4 G. - Eто9коEтL по от=оHе=8N к к4E4=8N 

≈ 7 Eуток – пол=4O <еE4=8GеEк4O Eто9коEтL 

ОG8Eтк4 8=EтDу<е=то6: !пеF84лL=K9 D4E6оD8телL длO д6уEко<по=е=т=KE 4кD8ло6KE <4теD84ло6. 
!Dед=89 D4Eход: �D8<еD=о 7,30 <.к6./к7. длO EлоO 60 <8кDо=. 
%D4=е=8е: � плот=о 74кDKто9 т4Dе пD8 t 6KHе 0º!. Не 7а<ора68вать! 
!Dок 7од=оEт8: 2 7од4 от д4тK 877ото6ле=8O. 
�еDO 5е7оп4E=оEт8: �е Eл864тL 6 к4=4л874F8N 8 6одое<K, ут8л878Dо64тL, к4к 5Kто6Kе отEодK. �D8 поп4д4=88 6 7л474 
пDо<KтL 6одо9.  
 


